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sof
sneer Is cot that

1 cot i a tan't'dEitan Gta

E tan 41 472 tangy tania
tantCy

tan Ktla tan kn

tan Zn tN2n

tantAntin tafia



lsntal tan iln yx tan

AIS.tn tan na tank tan life tan If
Soca tant life I Cotta I tant't

Hence IA is correct

CBI figsCot Snail figscot tan ntile tan x

Gigscot tan TITAN
Inglot tan tinge
diglot tar Itai
Cot tariff as nos I so

cot at E a

Hence B is correct

C S3 n I
tan ax tan n I
tant Ea tan s

32 1 422
1422324101 Do

No real root C is incorrect

I tan Snu tan tan'Intila tan al tan tan Flynn
tan smh iffy tan tartly y Kyer



i tan Snee sting Lay
as n as

tyg at say n 1

Value 1

tan snail is not 4 In 1 and a o

D is incorrect

Hence correct ans is AB


